

Lauren and Margot

11/30/2022 11:00 AM | Install All Items 11/30/2022 09:00 PM | Strike BLVD restaraunt 12/01/2022 02:00 PM | Strike Ballroom Escada PO: Shipping Address: The BLVD, Beverly Wilshire 9500 Wilshire Blvd, Beverly Hills, CA 90212 Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

	90212				
Description		Qtty	Price		Total
Blvd					
	Drape For Entrance 8-10'W x 12'H, royal blue velvet, double sided pullbacks for 2 areas, pipe and base	1	\$600.00	Т	\$600.00
	Booths - Round Navy Blue 2 Pc Set	2	\$550.00	Т	\$1,100.00
	Dining Table - Beirut - Round Chrome 60"	2	\$300.00	T	\$600.00
I	Small Dining Tables - Avignon - Bistro Table Silver W/ Marble Top Square	3	\$150.00	Т	\$450.00
ा लेगा	Dining Table - Berlin - Round Chrome for food station, don't assemble table	1	\$500.00	Т	\$500.00
	Communal Tables - Washington - Chrome	2	\$200.00	T	\$400.00
	Dining Table - Washington - Rectangular Chrome 8'	2	\$400.00	Т	\$800.00
			Total Blvd		\$4,450.00
Escada					
	Chandelier - Montmartre - Pink Crystal 40"	1	\$800.00	Т	\$800.00
	Drape To Cover Doors 10' x 12'H two-tone grey sheer chiffon with backing, pipe and base	2	\$180.00	Т	\$360.00
	Dj Booths - Berlin - Multi-mirror Small	1	\$450.00	Т	\$450.00

Description		Qtty	Price		Total
	Bars - Berlin - Mirror Straight 8'	1	\$900.00	Т	\$900.00
	Barback - Tokyo - Straight Basic 6' - Metal silver	1	\$300.00	Т	\$300.00
T	Stand Up Tables - Tokyo - Glass Top W/ Chrome Base	6	\$110.00	Т	\$660.00
	Dance Platform - Round 04 painted silver	2	\$350.00	Т	\$700.00
			Total Escada		\$4,170.00
Ballroom					
	Booths - Monaco - Round White Suede Thick 2pc Set	5	\$550.00	Т	\$2,750.00
	Booths - Monaco - Round White Thin Suede 2pc Set	5	\$550.00	Т	\$2,750.00
I	Small Dining Tables - Stockholm - Marble Bistro Table 41"Diam x 29"H , placed with monaco booth	10	\$120.00	Т	\$1,200.00
	Sofas - Hollywood - Taupe With Acrylic Legs 8'	4	\$350.00	Т	\$1,400.00
	Booths - Boston - 4 Seat Grey	2	\$550.00	Т	\$1,100.00
	Club & Lounge Chairs - Beverly Hills - Accent Chair Off White W/ Silver Legs placed with boston booth	4	\$200.00	Т	\$800.00
	Club & Lounge Chairs - Beverly Hills - Side Chair Off White W/ Silver Legs	2	\$250.00	Т	\$500.00
	Club & Lounge Chairs - Hollywood - Club Chair Taupe W/ Silver Frame	4	\$200.00	Т	\$800.00
	Club & Lounge Chairs - Beverly Hills - Club Chair Taupe W/ Gold Legs	4	\$200.00	Т	\$800.00

Description		Qtty	Price		Total
	Coffee Tables - Athens - Cut Out Round Large - Taupe placed with boston booth	3	\$275.00	Т	\$825.00
F	Coffee Table - Athens - Cut Out Round Small - Taupe placed with beverly hills sofa	3	\$250.00	Т	\$750.00
	Accent Tables - Athens - Cut Out - Taupe	8	\$150.00	Т	\$1,200.00
	Stage Fronts - Boston - W/ Mirror 8'x28" painted taupe (match couch if possible)	8	\$140.00	Т	\$1,120.00
	Communal Tables - Amsterdam - White 10' white	3	\$300.00	Т	\$900.00
	Barstools - Amsterdam - White	30	\$12.00	Т	\$360.00
D	Club & Lounge Chairs - Beirut - Ivory Velvet for stage,	4	\$220.00	Т	\$880.00
	Coffee Tables - Rome - Round - Off White for stage	2	\$240.00	Т	\$480.00
	Accent Pillows	32	\$30.00	Т	\$960.00
	Floor Lamp - Oslo - Chrome & Marble Base	2	\$275.00	Т	\$550.00
			Total Ballroom		\$20,125.00
Services					
	Install & Strike	10	\$450.00		\$4,500.00
	Strike BLVD	2	\$250.00		\$500.00
	Strike Ballroom & Escada	8	\$300.00		\$2,400.00
	Truck + Gas Surcharge	4	\$450.00		\$1,800.00
	Misc: Supplies, Materials, Packing, Etc.	1	\$500.00		\$500.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$28,745.00

Total Labor/Services/Misc: \$9,700.00

Taxes: \$2,457.70 Discounts: (\$2,874.50)

Total: \$38,028.20

Payments: (\$0.00)

Balance: \$38,028.20